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Internal Assessment Test 1 — June 2024

Sub: Database Management System Sub Code: | BCS403 ‘ Branch: ‘ CSE
Date: 46.2024 | Duration: | 90mins | Max Marks: | 50 | Sem/ Sec: IV/A, B, C OBE
Answer any FIVE FULL Questions MARKS | CO |RBT
1| (i) With a neat diagram explain the Three-Schema Architecture. [5] COl| L2
(ii) Differentiate the following: [5] CO1l| L2
a) Database Schema vs Database State
b) Composite attribute vs Multivalued attribute
2 | Consider the Database schema: Product (Product-id, Product-name, Price, Customer-1D, [10] CO2| L3
Purchase-Year)
Write SQL statements to:
i Create the table and Insert 5 records. Include possible constraints in the DDL statement.
ii. Retrieve names of all products whose price is less than 10,000 and purchased before
2024.
iii. Find count of products purchased by each customer. Considering the customer, sort
the result in descending order.
iv. Delete all the records for the Product “Mobile”.
V. Update Price of the Keyboard Product from 15,000 to 20,000.
3 | With example demonstrate various constraints applicable to Relational Model. [10] |CO1| L2
usn | [ L L
Internal Assessment Test 1 — June 2024
Sub: Database Management System Sub Code: | BCS403 ‘ Branch: ‘ CSE
Date: 4.6.2024 | Duration: \ 90 mins \ Max Marks: \ 50 | Sem/ Sec: IVIA B, C OBE
Answer any FIVE FULL Questions MARKS | CO |RBT
1| (i) With a neat diagram explain the Three-Schema Architecture. [5] CO1| L2
(ii) Differentiate the following: [5] CO1l| L2
¢) Database Schema vs Database State
d) Composite attribute vs Multivalued attribute
2 | Consider the Database schema: Product (Product-id, Product-name, Price, Customer-1D, [10] CO2| L3
Purchase-Year)
Write SQL statements to:
i. Create the table and Insert 5 records. Include possible constraints in the DDL statement.
ii. Retrieve names of all products whose price is less than 10,000 and purchased before
2024.
iii. Find count of products purchased by each customer. Considering the customer, sort
the result in descending order.
iv. Delete all the records for the Product “Mobile”.
v. Update Price of the Keyboard Product from 15,000 to 20,000.
3| With example demonstrate various constraints applicable to Relational Model. [10] |CO1| L2




Draw the ER diagram and Schema diagram for the following Database:

Hospital (HID, HName, Loaction); Doctor (DID, Dname, HID, Specialty); Patient (P1D, Pname,
DID, Age); Receptionist (RID, RName, HID); Record (PID, DID, Appointment-Type).

—>The Hospital has Doctors and Receptionist. Receptionist maintains Record. Doctor treats
patients.

[7+3]

Co1

L3

Consider the Hospital database: Hospital (Reg-no, Doctor-id, Patient-id, Fee-paid,

Consult_Year)

Write relational algebraic expressions for the following questions:

I. Find the list of patients who paid above 1,000 /- fees under the supervision of doctor-id
13.

ii. Find only the Doctor -id and Patient-ids for the consultation Year 2023.

iii. Rename the resulting relation from the previous step to New-Hospital including its
attributes.

iv. Find the count of patients assigned to each doctor and also the average fee amount paid
for each doctor.

V. Find the list of patients for whom either the fee-paid>2,000 or Consultation year is 2022.

[10]

CO2

L3

Stepwise with neat diagram demonstrate ER to Relational Mapping

[10]

COo1

L2

Draw the ER diagram and Schema diagram for the following Database:

Hospital (HID, HName, Loaction); Doctor (DID, Dname, HID, Specialty); Patient (PID, Pname,
DID, Age); Receptionist (RID, RName, HID); Record (PID, DID, Appointment-Type).

->The Hospital has Doctors and Receptionist. Receptionist maintains Record. Doctor treats
patients.

[7+3]

COo1

L3

Consider the Hospital database: Hospital (Reg-no, Doctor-id, Patient-id, Fee-paid,
Consult_Year)
Write relational algebraic expressions for the following questions:
i.  Find the list of patients who paid above 1,000 /- fees under the supervision of doctor-id
13.
ii.  Find only the Doctor -id and Patient-ids for the consultation Year 2023.
ili.  Rename the resulting relation from the previous step to New-Hospital including its
attributes.
iv.  Find the count of patients assigned to each doctor and also the average fee amount paid
for each doctor.
v.  Find the list of patients for whom either the fee-paid>2,000 or Consultation year is 2022.

[10]

CO2

L3

Stepwise with neat diagram demonstrate ER to Relational Mapping

[10]

Co1

L2
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